J1) might

AB)

O

Adda

Fill in the blank with the correct
modal :

[ am afraid that if T agked him
again, he re_ﬁwe-
(uncertainty and possibility)

(2 ought
(4) wouldn't
(6) Question not attempted

(3) mustn’t

Choose the option which correctly
expresses the concept in brackets
at the end of the sentence and fill
in the blank :

She ___ sit for hours in her
garden and knit. (past habit)

(1) oughtto £2) would
(3) might (4) shall |
(6) Question not attemptedg

Fill in the blank with the correct
modal ; :

I managed to find the street, but I
find her house. (inability)

(1) hadn't (2) wasn't
couldn't (4) usen't
(6) Question not attempted

I bought ‘three loaves, that

be enough. (express deduction or
conclusion)

(1) will @)
(3) should )

(6) Question not attempted

may

can

= |V

@) Fill in appropriate modal in the
blank :
On the other side of the wood,
there was a field that he g
cross to reach his home.

(immediate obligation)

(1) should v(2) must
(3) might (4) ought to
(5) Question not attempted

6. Fill in the blank with the correct
2 modal auxiliary :
He didn't ____ be reminded about
it. (absence of t]e_c_gggigyj
(1) want to (2) need to
(3) ought to (4) used to
(5) Question not attempted

7.  Fill in the blank by choosing the
correct preposition :

It is very hot the centre of
the earth. e

(1) upon L(ﬂ) at

- N (4) in

Ol D17

(5) Question not attempted

Fill in the blank with the correct

option :

| Did they comply the rules ?
(1) from 2) by
(3) for (4) with

(5) Question not attempted

Fill_ in the blank with the correct
option :

Bt'ngT!

advising her, he also helped
her.
A1) Besides (2) Beside
(3) Of (4) Since

(5) Question no attempted
04
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13.

10. Select the correct preposition for
the blank :

He was happy to be all his
university friends again.

(1) between (2) besides
AB) (4)

(6) Question not attempted

among onto

11. Fill in the most appropriate

preposition ;

Are you any good tennis ?
(1) in “2) at
(3) . about (4) with

(6) Question not attempted

Fill in the blank with a correct
preposition :

We saw an unknown object hover
us before it disappeared into
the clouds.

(1) at \A2) over
(3) into ° (4) by
(6) Question not attempted

Fill in the blank with the correct
phrasal verb : .

You'll have to work very hard
today to ___  the time you
wasted yesterday,

u@" make out M\Qﬂf“-l""a
\_}2)" make up for

(3) make for up
(4) make upto
(5) Question not attempted

&

Choose

;-aplace hhe correct option to

gentence . © underlined part of the
Th‘e jﬂke caused

(1) fel] out 3
(2) fel] bﬂck

(8) did not hold water

wa fell Ao

(ﬁ) QUEstmn not attempted
lb The Meaning of the following
¢ jdiom is:
‘Give yourself airg’,
_ \_/(Zf Go out of doors
~ (2) Make a wrong choice
T (8) Act pretentiously or

;‘ snobbishly

1L (4) Make someone annoyed or
angry

(E;) Question not attempted

Choose the correct meaning of the

idiom ‘A golden calf’ from the

™ options given below :

16.

Lp (1) The highest prize
,,., (2) The perfect object of worship
i'n“ (8) An unworthy object of
worship
LAy A glitzy piece
(5) Question not attempted

17 Choose the correct meaning of the
Phrasal verb — ‘get around’ from
 the option® given below :

b \—(IT Recover

@) Make progress
Escﬂpﬁ
Ei; Peﬁ“ﬂde or coax
5) Quegtiun not attempted
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Read the passage carefully o, .njher
the questions from Q. No, 15 _ 21

“Poetry 18 the lﬂng'lmge of the
imagination and the Passionk: It

relates to whatever giveg immediate

pleasure or pain to the human ﬂliﬂd' It
comes home to the hgoqs and
businesses of men; for ng4ping but
what comes home to them j;, tpe most
general and intelligible shape can be a
subject for poetry. Poetry, ig the
universal ‘language which the heart:..
holds with nature and itself He who™
has a contempt for poetry canmt-have_!?f:

much respect for himself, or fnf-‘:'ﬂ

anything else. Wherever there is a"7 -

sense of beauty, or power, or harmony,

as in the motion of a wave of the sea, in

the growth of a flower, there is poetry

in its birth”. — William Hazlitt, | .

18. Who, according to the paragraphp
cannot have a respect for himself’ ‘f{}:

() One who likes material |

thi_l'l g8 i

e
poetry PN
.

One who has a cnnteﬁ:pt for |
(3

One who is in love with:
oneself '

One

oneself
Question not attempted

a7

(4) who understandstal

(5)

19. What gives birth to poetry ?”
@ A respect for societal goals E::
) Alove for oneself E
)

\,53} A Sense of peauty or Power
"
or harmon},
@) Aloye for facts of life
(5) Question not attempted

1 28.

‘Harmon
20, Synonym of the word,
i8 : M@.uﬁ(}’

(1)._._Dissonance
\ (2) Peacefulness
(3

) Incongruity .
/(6) Question not attempted

21. What kind of language is the

Disagreement

language of poetry ?

(1) Of far-fetched objects &
subjects

(2) Ofrules and regulations

(8) Of realities of life
w4 Of imagination and passion
~  (6) Question not attempted

22. When writing a precis, one should

—-avoid which of these rules ?
\}J,}" Use one word for many by
' substitution,
) Use shorter clause structures
by ellipsis,
(3 Leaving out every third
- word.
4r DElet_ing examples and
repetitions,
(5) Question not attempted

(1) €Xpansion

(2) paragrapp Writing .
\{3)" compreggiqgy,

4) Paraphragip g

- (8) . Questiop not attempted

04

(¥ Scanned with OKEN Scanner



Which one of the following is
a characteristic of précis writing 7

colloquial

£1) Inclusion of .
expressions and rhetorical
flourishea

(2) Simple, direct langunge 7
(3) Coherence and logic

(4) Complete-and self-contained

sentences.

(6) Question not attempted
25. While choosing a title for your
précis, the best way is to —

.1~ think of some word or

w phrase ithat will sum up
briefly the main subject of
the passage.

look for:a key sentence that
may be found at the
beginning or at the end of
the passage.

L}/ make the title as informative |
as possible.

Select the correct answer.

(1) 1and3, (25 1,2and3

(3) land2/5 (4) 2and 3
(6) Question ot attempted

y 26. To achit'n{e & personal tone_ in
letter writing, one ghould -

&)/Wl'ite ‘In a  natural,
conversational style, \
(2) avoid r]",,'"é:'ap;;urml pronouns
when possible, A

3)
4

be remote gng aloof, %

avoid the uge of the peraon's
name,

(5)

Question not attempted

00( ~
27.1 AF I I"'|-'Inr nhould n“?lm :

(1 "]""“I.‘f writton
(E) h.ri“”.‘:' nlated

.\.w’ "I'"'i"l{],v opinionntoed
(4) COUroounly polite
(5) Q“*‘ﬂtinn not nttomptoed

28. The most 4] aubscription used
in th.{s lotter of application for n

(ELI;JH :
X)) Youry pinceroely

\_ﬁf Yours faithfully

Nyt Yours affectionntoly.
« ((4) Yours very sincoroly

();.'H.ﬁ 0 ""“Q

(6) Question not nttempted

28, Which one of the following is the
_correct sequence for the form of a
letter ?

F:

(2~ Address on the envelope, the
. heading, the salutation, body

The heading, address on the.

envelope, greeting,
gubscription, body of the
letter.

ﬂ? letter, the
gubscription,

(8) The heading, greeting op
anlutation, body of the letter,
gubseription, address op the

- envelope. '
(4) The snlutation, the heading,

Hrh[rgrﬂﬁ on
B“h,:..crlpt.h:m.

Jetter:

the envelopo,
body of the

A

(5) Question ot attemptoq
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'30. The thie ‘C's in a good rEpﬁﬁ dt!.'

(1) Clarity
_(2r Crudity

(3) Consistency

(4) Consequentiality |
(5) Question not attempteq |

Which ong_ of the following is
generally(hot Yfound in the gopmat
of a written Teport ?

(1) Salutation or greeting
2y Executive summary

(8) Introduction

4)

&)

A report must always be —
180 informal . in  its tone,
language and presentation.

_—2formal in its tone, language
and presentation. F

formal presentation’ of
available information. | .

Choose the correct answer from
the options given below :

(1) Only 1 is correct.
2~ 2 and 3 are correct:

3 1land 3 are correct.

4) land2 are correct.

(5) Question not attempted

31.

Body and conelusion
Question not attempted |

32,

3.

33. A Systematic apng well organized

fé’;’&'ﬁl Presentation of facts and
alre dgﬂ of an gyent that has

ady takep place gomewhere ig
(1) a Circular
(3} a 1Etter

() Queatig

(2) a tender

- \(4)—a report

0 not gfpempted

-

“Who best bear his mild yoke,
‘they serve Him best.”

(On His Blindness)
What does Yoke' here refer to ?

.{tﬂﬁ The eternal punishment

(2) The eternal human

' predicament

(3) The talent wasted fondly
M A harness or responsibility

(6) Question not attempted

36. In his “On His Blindness” Milton
i:éﬂects a complex mix of

emotions. He moves from —

(1) hope to frustration to grief.

_ L@/grief to frustration to
resilience. .
(8) hopelessness to hope to
hopelessness,
| e A -
(4) belief in God, questioning
1“ God to doubting God.
(5) Question not attempted
86. John Donne enlists several

impossibilities in the first stanza
of Fhe poem — ‘Go and catch a
falling star’. Choose the one which

1:1& has NOT written in the first
gtanza.

A1) Catch a falling gty

(2) Hear mermaid’s singing

(3) Pilgrimage of Ten Thousand
days and nightg

(4) Finding aboyy 4 f
devil's olofy fou he cause o

(5)

Question not atfempted
04
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Which one is a wrong assessment

of the given poems ?

(1) Written in 1819, “Ode to the
West Wind”, Shelley had the
Peterloo massacre in mind.
‘Ode on a Grecian Urn' was
inspired by Keats' study of
Elgin Marbles in the 'IB:It'itish

‘Museum. '

(2)

(]

(3) ‘Daffodils’ by Wordsworth is
a sonnet inspired by a long
belt of daffodils he
encountered in Ullswater.

\(A‘)/ “My Last Duchess” is

preceded by an epipgraph
“Ferrara” that details the
identity of the Duke and the
Duchess. g

(5) Question not attempted’

38. West Wind is addressed by various

names and adjectives by Shelley

in his - ‘Ode to the West Wind’.

Which of the following addresses

18 NOT used in the poem ? ;..

(1) Spirit Fierce ! s

(2) Uncontrollable ! I~
8] Thou Breath of Winter:!’

(4) Tmpetuous One

(6) Question not attempted

“Sylvan historian, who canst thus
express

A flowery tale more Bweeti}":thﬁll
our rhyme” L)
What does ‘Sylvan’ refer to-in the
above lines from Keats' ‘Odé on a
Grecian Upp’ 7

(1) Divine

(2) Greek

(3) Scholar of sculptures

4" Living or Jocated in the forest
(5). Questinn not attempted

39.

04

l

40.

41.

f;““;“ing’a “My Last Duchess” is
enga. rastic , one that
dramgea? with a work of art and
the :‘tlzas viewers’ responses to
boer "work. Besides Browning's
() ' &nother notable example is :
W‘3'1'dssm%.w:mth"xa : ‘Daffodils’
(2) onne’s : “Go and Catch a
Falling Star” d
&)’/ Keat's “Ode on a Grecian
Um”
(4)  Shelley’s : “Ode to the West
Wind” ,
(5) Question not attempted

The neighbours of the
poet/speaker made various wishes
for the poet’s scorpion-stung
mother in the poem — ‘Night of the
Scorpion’,

Wﬁh of the following wishes was

OTJvished by them ?

(1) May the sins of previous

: birth be burnt away:.
(2) May the suffering decrease
‘. the misfortune of the next
birth.
May the poison purify the
flesh of desire. ;
. May the suffering spare the
sum of her good deeds.

(5) Question not attempted

l 42, “There Were green,

] —

Tattoos 0N their cheeks, in
theil' hair. .
Fill in the blank with the corpect

option 00 the basis of your reading

the Poe™ — Dance of the

Euﬂ“chsl : '
Josmine  (2) Clips

(3) T“hpﬂ (4) B]OSBDmB

Question not attemptegd

(5)
o
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43, Fill in the blank wigy, the cﬂﬂECt

44,

45.

46.

option :

In “Go and Catch a Fnlling Eur."’
the speaker compg,q5 his
listener to perform , series Of
impossible tasks g iljpstrate

v(aff Women’s fidelity }
(2) Women’s beauty
(3) Black magic f
Women’s infidelit,
cﬂ? . Wome! 1ty r
(5) Question not attempted

In Shakespeare’s play Mliﬁheth'
who among the following js NOT a
Thane to Scotland ?

(1) Macduff (2) Lenniﬁx
\(3 Seyton  (4) Angus

(6) Question not attemptea,

Who is Fleance in the play —

‘Macbeth’ ?

(1) Name of Hecate

(2) Thane of Cowdor :
3> Banquo’s Son :

(4) Earl of Northumberland

(5) Question not attempted

[l
|

Where does beth forti
himself ¢y fight ’ifé‘iinst Malgﬁ'
In the last Act of the play ?

(1) Cowdor

(2) Glamig

~ @) The Wooq of Birnam

) Duncinape

(6) Question not attempted

-

The play Macbeth by Shakespeare
was written during the reign of

(1) Queen Elizabeth
~A2) CharlesII..
(3) JamesI [
(4) Richard III,
(6) Question not attempted
@ In the famous interlude in

Macbeth, Act 2, Scene 3, The
Porter Scene, who is admitted to
Castle of Inverness ? Why is/are
he/they there 7.,

(1) Macduff and Lennox; they
have come to wake Duncan
(2) Lady Macbeth; she has come
to murder Duncan
»(3) Macbeth; he has come to
announce his victory
(4) Donalbain and Malecolm; to
greet their father
(6) Question not attempted
: 0
49. Match the following couples on
the basis of your reading
Shakespeare’s — “As You Like It".
i.  Oliver ____ g Celia
ii. Orlando ——b. Rosalind
iii, Silvius i Audrey
iv. Touchstone Phoebe

(M ]
Choose the correct option:

() ib, i, §f.c

» iv-d

@) ia, iib, iijc, jy.q
@ b, i, diid, jyc
M A i, diied, gy

(6) Question net attempted

04
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50 Shakespeare has portrayed some

51.

of his characters as the genuine
pieces of rusticity in the play — ‘As
You Like It.

Pick up the

éﬂd on? out who is not
a rustic char 5

(1) Audrey (2) Touchstone
(4) Corin
(6) Question not attempted

Choose the correct option :

‘Who speaks the following lines to
whom in Shakespeare’s As You
Lik elt?

“O good old man how well in thee
appears

The constant
antique world

When service sweat for duty, not
for need

Thou art not for the fashion of I

these times”
(1) Jaques to Duke Senior
(2) Oliver to Adam

. \/(aj” Orlando to Adam

62.

A

(4) Duke Frederick to Duke
Ferdinand

(5) Question not attémpted

Choose the correct option :

Who is Jaques d in A ‘&"g
Like It ? E.Boys Sl o

(1) A Lord attending on Duke

Senior
The second gon of Sir
Rowlang

(3) The Wréstler

4 A Shepherg

(6) Question ot attempted

service of the

,

Ty — .
._..1 _' 7

NC2a

e

blank with the correct

gill in the

ﬂFﬁon:
8 £ Doy Ay you Like It

Ph":}:':s "emark “Whoever loved

thak tOVEtl Mot at first sight” harks

bac ~—

1) Marlgyeg “Hero and
ande,”

(2 Shﬁkﬂspeare's “Much Ado

About Nothing”

(8) Bacong «of Love”

(4) Srensers  “The  Ferie
Uegng”

(6) Question not attempted

‘Some books are to be tasted,
others to be swallowed and some
few to be chewed and digested’.

Here 'to be chewed and digested’
means

(1)

it is enough to read reviews
~ of books.

(2)  to be perused lightly.
(3)  to be read with less curiosity.

to be read with attention and
" diligence.

| (5) , Question not attempted

Bacon identifies three maip
purposes of studies, they are :

(1) knowledge, understanding
and education

N8 delight. ornament ang ability

(3) exploration, description and

e_.‘.plunntmn
(4) predictiﬁn, dj&g‘nogis and
delight
(5) Queatiﬂn hot attempteq
» |
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|' 56.

\(3)” Brush

57. In
Sweepers’, Lamb compqpes little
professional '
chimney sweepers to

(1)
@
(3)
@

568.

59.

d?-')’ Farfrae

(5)

3) Farfrge

(4)
(6)

' [
The phrase ‘brandighod woapo of
his art’ in the essay “The PF of
Chimney Sweepers' Yoforg 407

ers
(1) Sword (2 Pen

@ stick

0

(5) Question not attemped I~
"l

‘The Praise g Cﬂmﬂa}

notes of am
a young sparrow :

a nightingale
a parrot

a young
Grosbeak

Question not attemptéﬁ
Ki

afeee
B W
o
rose-hreasted

Who hosts an annual feastfor the
young chimney sweepers ? i,
(1) Bigod

@ Elia Jemrhi‘:t‘éf
(5) Question not attempt 1 et

(2) Mr. Read,.:

Wy

reason for Henchard’s
liking for

(1) Farfrae provides He';mhard
with

Some Political

°P130rtuniti|a_a, ™

shares Wi‘ﬁl

d' & technique thit

8 Fuined grain usable""

helps  Henchard

" 8 uncomfortable
Wation with Susan,

Farfrge ;
18 T

avoid

Uestion 4 attempted

Donald .

Bl

DU O e T ———

,
!

60. Who is the biological father of

Elizabeth

in

Casterbridge ?

(1
(2)
A3)
(4)
(6)

Michael Henchard
dJoshua Jopp

Richard Newson
Dunﬂld_Farfrae
Question not attempted

61. Fill in the blank with the correct
option :
Henchard sells his wife to —
(1) a hay trusser
(2) the furmity seller
(3) a sailor
(4) asmoking gentleman
() Question not attempted
62. Choose the correct answer to the

given question from' the options
that follow :

Which of the following are true

with regard to “The Mayor of
Casterbridge” ?

A

Henchard’s

real - daughter
was alive,

._B}/ The nove] ig the story of a

man of character,

Hardy Prioritizes character
overfate angd incident.

D.. The Skimmity ride killed
Lucetta,
(1) AandC

2 BandD

@@ B, CandD (4 Only C
(5) Question not attempted

04
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P9 |

&

72,

A8}

The aboye ig adefinition of a

Dr. Johnson i]'l hin dicﬂgﬂ.ﬂry
(1755) defines t:hia litorary form

as “Narrative, comprising
narrations  not 4. 4 but

rehearsed. It i8 usualy 4ypposed
to be heroic, or to mntﬂE“F one
great action ac ieved b}," a hero”
at is he reﬁ%ﬂ*ing to 9
=)

Ballad G
(2 Ode
Epic
Allegory

(4) i
Question not att,emptéjﬂ

(6)

Petrarch’s Jﬁﬁnets were first

imitated in Bxgland, in form and |

primary subjeet matter — ‘a doting

lover's hopes &pains’ by —

(1) Christopher Marlowe

(2) Sir Philip Sidney ’

(8) Sir Thomas Wyatt &

(4 EdmundSpenser

(6) Question fot attempted
I : |

cj . :

Choose the cotrect option to the

following question by filling in the

blank : -

a
g
|

'_‘It arises out of folk literature and
15 transmitteq orally. It is a
Darrative spegieg of folk 80ngs.”

(1)

Sonnet
@)

Ode

Ballag
GDthic

Question not attem pted

(4)
(6)

r@_

In Greek and Roman times, the
term used to refer to the sybject
matter of change and loss
especially in complaints gbout
loveis

“X‘I) dirge
(2) sonnet
M} elegy
(4) ode
(6) Question not attempted

75.

Choose the correct option :
Which of these are true ?

A. The Pindaric ode is also
known as the irregular ode.

B. Horation odes are shorter
than Pindaric odes.

C. The Cowleyan ode is also

" called the regular ode.

D. Pindaric ode was introduced
into England by Ben Jonson.

(1) A& D are correct.

(2) B & C are correct.

(3) A & C are correct.

(4) B & D are correct.

(6) Question not attempted

“O heavy lightness ! serious vanity !

Mis-shapen chaos of well seeming -
forms !”

Which figure of speech is used in
the above extract ?

(1) Synecdoche
(2) Irony

U3y~ Oxymoron

(4) Metaphor
(6) Question not attempted

04
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80. “The one red leaf, the last Of its

76. The term “ten handﬂ :fll; tt?o? clan
workers, or '8 hund:t:e 8 That dances as often as dance it
ghips i8 nn example 0 can.”
(1) Oxymoron Which figure of speech is used in
(2) Paradox the above extract ?
_A8) Synecdoche ~ ¢_(1)« Personification
(4) Rhetoric il @ Irony
(5) Question not attemp e . (3 Metaphor
77. Which figure le ’-"Ti’_??e'“‘h amktheae (490 Onomatopoeia
lines an example 0 s B uesti
e e of  doves in (6) Question not attempted
immemorial elms 81. ‘A wave of enthusiasm’ or ‘a storm
And murmuring of mnun}erﬂhle of abuse’ is an example of - .
bees,” . = (1) Simile '
A O.nu.matopoem r\;’ \'(2'), Metaphor
(2) Simile o 3 ;
00 (8) Personification
(3) Metaphor (4) Meto
(4) Irony e

(5) Question not attempted (6) Question not attempted

8Z. at is the correct phonetic

78. Choose the correct option to fill in _
& transcription of ‘Tranquil’ ?

the blank: . -
“All the perfumes of Arabja will! (1) [ftrenkwil/l (2) /tronkwil/
not sweeten this little hand’-is an} J8J  ftronkwill  (4) [trAnkwi:V/

exampleof _____ B . (5) Question not attempted

(1) Synecdoche 00 1
; 2) Irony ) | 83, What is the correct phonetic
A

transcription of — ‘Judgement’ ?
(1) /dza:d3z“meint/
/dzadza:meint/

(3) Onomatopoeia

i {4 Hyperbole

(6) Question not attempted (2)
(8) /dzedsemant/

[ 79.\ Which of the following Iltemryi g Jdz~dsmont/

. I:ﬂu:guﬁltwn talibabed Son Eﬂmm; () Question not attempted
4 (1) Tessofthed Ubervﬂles .,: 84| The luhonetm tranacnptmn of the
(2) Pride and Prejudice wnrd ‘air' is
(8) Rape of the lock @ fea(r)/ (2) /ae(r)/
(4) Moll Flanders (8] @)/ 4) oe(r)
B (5) Question not attempted % Question not attempted
o4 13 a
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99. Till in the blank with the correct
option :

The Birthday Party by Pinter is a

comedy of menace
(2) comedy of manners
(3) romantic comedy
(4) sentimental comedy
(6) Question not attempted

94. Choose the correct option :

What game do the characters play
in Act II of Pinter’s “The Birthday
Party” ?
(1) Musical Chair
(2) Hide and Seek
(3) Housie ;
2 (4~ Blind man’s buff
(6) Question not attempted

95. Choose the correct option :

Which of the following(are ;true’
with regard to “Cry, the peacock” ?

The entire novel is narrated

{A.

in the third person.
1_—~B. Maya is obsessed with the
., astrologer’s prediction.
B\ C. Maya's pet dog’s name is not
| Uk known. 'y -
D he introductory and

concluding sections of the
novels are narrated in the
third person.
B and D are true.

(2) A and C are true.

(3) B and C are true.

M A and D are true.

(5) Question not attempted

15

96. The novel ‘Cry, the peacock’ by
Anita Desai opens with the
narration of —

(1) Maya thinking of Albino’s
astrologer.
+ (2) Maya thinking of her
;l childhood with her father.
¢ \8)" The death of Maya's pet dog.
“(4) Maya thinking about her
estranged relation with
Gautama.
(5) Question not attempted
97. Which one of the following
| statements are.correct in relation
i to creole languages ?
L Creole languages are
vernacular languages.
2. ey developed as a result of
”" contact between groups that
spoke mutually unintelligible
languages.
. ey developed as a result of
- contact between groups that °
e spoke mutually intelligible
l> " languages.
¢ Options :
(1) land2 (2) 2and 3
and 3 (40 Only1
| (6) Question not attempted
| 98. Which statement about -creole
+.. language é true ?
©.(1) Creole languages are always
| . endangered.
t./(2) Creole languages are formed
: only in tropical regions.
(3)Creole languages have native
speakers and are fully
developed, stable languages
(4) CI’EO]B lﬁnguages hﬂ.Ve I;.D
l standardized writing system
| (6) Question not attempted .

L
«Q
v

UK
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99. The price of gold has touched
___mew high.

‘/(»r)" A (2)
(8) the (4)
(6) Question not attempted

an

Zero

100. Fill in the blank with a corréet
determiner :

His ideas are difficult, but
people understand them,

(1) thefew | (2 |
(8) much ,(4) not any
(5) Question not attempted

a few

101. She asked, “Some more Snuﬁl'i;;‘
He said, “Just __, pleaﬂé.” \
(1) little (2) some .
‘_/(3) a little (4) less i

(6) Question not attempted o

102. Fill in the blanks with the correct
g determiners :

There is — __ point in dmng
—  more work now., K

(M) ajthe A2y o many.'
3) little ; few (4) little: an}',
(6) Question not attempted

— Us, diplomat showed me

Ereat
embaggy Courtesy jin the U.S.

1) A
3 The
(6)

(2) An
4)

Question nqt attempted

Zero

- 107. Susan

'108. He '

|

—— e — T—

104- WE fre having wrrib]e rainﬂ

this year.
(1) a (2) an
(3) the Y~ zero article

(6) Question not attempted

105. Fill in the blank with the correct

option :

I'd rather she ____
borrowing my car.

(1) must ask
'\_(2)—had asked
(3) could have asked
(4) will be asking
(6) Question not attempted

106. If I a sculptor, I a
sculpture for you.

me before

* (1) was, made

&E@f’ were, will make

V(a)‘ were, would make
(4) were, would made \,?
() Question not attempted

hectir
— him three daughters. bm?" |
(1) has born \_,_(2)'/]335 borne ° &

W‘EEB borned (4) have born

(6) Question not attempted

— _ aslee i
(Fall, study) P while he

(1) fall, was studying

(2 had fallen, studied
A8 fell, was studying

(4) has fallen, wag studying *

() Question not attempted
04
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109. Fill in the blank with the correct
sequence of tenses : | e

You
where you were going.

(1) didn't have

(2) hadn't been
Lﬁ}/‘couldn't have been

(4) wouldn't have

(5)

'Question not attempted

110. Choose the correct form of the verb
from the options given below :

This paper
(1) is appearing
~(2Y” appears

(3) was appearing

twice weekly.

(4) appearing

(6) Question not attempted
111. Choose the option that 1is
grammatically correct tive
tra.nsform&tion of the following :

—

It was felt that he was the right
man for the job.

(1) The job requires a man like
him,

(2) I feel that he is the right
man for the job.

\/Wefthey felt that he was the
right man for the job,

(4) That he was the right man
for the job is felt around.

(5) Question not attempted
04 .

s
crashed if you'd looke'Pl

|

-

112. The whole nation believed that
Vinesh would win. (change .into
passive)

(1) . It was believed that Vinesh
would win.

(2)' ‘It was believed that Vinesh
i will win.

(3)'I;,;1,It was believed that Vinesh
would have win.

(4) It was believed that Vinesh
would have won.

(5) Question not attempted

113. CHﬁpge the following direct
speech into indirect speech :

Ha’rzﬁaid to her, “Will you be there

tomiorrow ?”. _
\9, He asked her if she would be
there the next day.
(2) He asked her if o0 would be
there the next day.
(3)"'He asked @JEI' if she would
1]-_-.he there the next day.

[4) \He asked her if she would be
*there @
(6) Question not attempted

114. He said, “It is Time I went to bed.”
(change intﬂ_.l__i_nj'lr_e_ct_)_

(1)'~He said that it was time
[ went to bed.
time

(2) ‘He said that it

“-he went to bed,

{3) e said that it was time he
had gone to bed,

(4) He said that it wasg tim
went to bed, > 1-“?':

(5) Question not attempted

17.
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He said, “If I had gone to the
circus, I would have seen the_
clown.” (change into indirect) .

(1) He said that imad gone to
the circus I would have seen
the clown. e
],{'He said that the had gone |
Al | to the circus he would have
seen the clown.

()} He said that if he would have '

118. Change

the following sentey
from simple t0 m
: He has no boots to wear.
(1) He has no boots who he cay
wear. _
(2) Hehasno boots which he gg,
wear.
(3) He cannot wear because p,
has no boots.

(4) He has no boots 8o he canngt

i wear.
5233 t}t:; c%::mcucus ue hat (5) Question not attempted
(4) e said that if He'would have | 119. Convert the following simple

gone to the circ‘gs he would
have seen the clown.

)
() Question not attémpted

116. Which of the following sentences
uses a double negative correctly ?

2
(1) . I don't know nothing about
it.

\_(/2—)/ He was not aEf__‘. infrequent
< visitor. {9

(3) She doesn't want to go
nowhere for the Vacations.

(4) She hasn’t done nothing for -
the upcoming exams.

(5) Question not attempted

I

|

l
117. Identify the correct affirmative I
tl;rm of the given s&ﬁt&nce from. |

e Dpttgzi&hat follow: l
Nobody wag éﬁ';%it. ) ’\n_(r l

(1) Everyone was a'érégnt. ll
|

|

A

l

) Everybody had been present.
\}3) Everybﬂd
(4)

¥ was present.
e EVEI'ybody wasn't abgent.
- Questigy not attempted

18

gentence into & compound one :

He must work very hard to make

up for the lost time.

(1) The time which he has lost
can be made up by hard
work.

(20 He must work very hard but

~ make up for the lost time.

(8) He must work very hard and
make up for the lost time.

(4) He must work very hard or
make up for the lost time.

(5‘) Question not at.tempted

120. Choose the correct form of the

simple sentence of the given

" Sentencefrom {he options that

fﬁUGW :

G sold the horse which belonged
% his brother,

) He sold his brother’s horse-

H.E sold the horse@ it was
8 brother’s.

®) His brother had ﬁ horse@
( he s0]q. :
4) The 1’101‘3 B of

. orse that he sold wa
(5) his brother: =

Queation not attempted

04
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- 121. According to Piaget, during which
| ‘stage do children develop the

ability to perform og;gliuna on
abstract concepts ? 2
(1) Sensorimotor LTXG) NTR,

(2) Preoperational A j"’
(8) Concrete operational T‘!::Q
" Formal operational

(5) Question not attempted -

122. Three significant laws of learning
iie. law of exercise, law of
readiness and law of effect was
given by :

(1) Ivan Pavlov |
(2) B.F.Skinner
(3" E.L. Thorndike
(4) E.C. Tolman
(6) Question not attempted °

128. Match List-I with List-II and
select the correct answer by using
the codes given below the lists :

(6) Question not attempted

List-I List-II

A. Piaget )i) Conditioning
B. Bruner (;p Trial and Error
C. Pavlov {1i) Schema l
D. Thorndike’ iv) Discovery |
learning |
A B C D |
) G ™ 6O ) |
@ Gv) Gi) @) @) |
@ O G G @) {
4 @) av) G @ O
|

19

124, For effective learning,
organization of the matter into a
Whole is important. This is the
view point of :

(1) Bandura

(2) Tolman iﬂc ""%
\/(ay’Kﬁhler

(4) Bruner

(5) Question not attempted

125. Constructivist theories of learning
“suggest that

(1) Kl.l;éwledge is  passively
aj:ffibrbed by learners. ’

( I..'é'ﬁrners construct
knowledge based on their
experienca.

(8) Teaching should focus on role
memorization,

(4) Assessment should only test
fsﬁ:}‘ual knowledge.

- (5) Question not attempted

126. A Mental healthy person will be -

(1) Emotionally balanced but

Bt}i;éially inadjustable.

(2) Socially adjustable and day
dreamer.

(3) Self confident and pessimist,

(4)~Emotionally balanced and

socially adjustable.

(5) Question not attempted

(8]

733
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7. A child who has been punished by
14% arents for obtaining poor marks
E—; the ‘examination, may display

the aggressive feeling by
unnecessarily beating a street
dog. This incidence is the example

of :
(1) Sublimation

L/(2)’” Displacement
(8) Compensation
(4) Repression
(5) Question not attempted

l o Y
'; ]
oD

128. The concept of eyotinnd
intelligence was first coined by :

P John Mayer and’ Peter
Salovery o
(2) Daniel Goleman
(3) Cooper & Swaf
(4) Robert Plutchick and K.T.
Strongman
(5) Question not attempted
129. A high emotionally i;itjé]]igent
student will have Ial good
relationship with - 2

A Fami_ly oo
B. Teacher
C. Peer group

Belect the correet answer from the
codes given below . O

Codes ; i,

(1) only A &
(2) onlyC

@) AandC
4 A Bang C

©)  Question poy attempted
o

130. Communication is a process of
sharing :
A. Ideas and sentiments
B.  Sentiments and Goods
C.  Feelings and Opinion
D. Power and Thoughts 0
Select the correct answer using
the codes given below :
(1) Aand B
“42]" Aand C
(3) BandD
(4) CandD
(6) Question not attempted

131. Focussed listening skill include
these stages:

NAA Concentrating
B. Processing

A_C— Hearing

\ D,—Evaluating

Correct sequence of these stages is :
(1) C,BandD
(2T, Aand D
3 A ,CandB
4 C,DandB
() Question not attempted

132. Concept  Attainment - Teaching
model follows three main phases :

A.  Testing Attainment of the
Concept.

B, Presentation of Data and
Identification of Concept.

C. Analysis of Thinking

Strategies.
Select the correct sequence :

B,Aand C
(@ A BandC
3 B, Cand A
@4 c, A and B

2 (5) QLIEEtiOII not attempted N
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188. Advance organizer, model was
given by : '
(1) Atkinson & Shiffrin
(2) Bruner - 8
(8) Austin

47" David Ausubel

184. Imagination

-

135.

(5) Question not attempted

power _ and
Tomposition skill of students can
"be developed by :

(1) showing a stanza of poem on
a chart and reading it.

Mng set of pictures and ask
| them to speak anything

about it. -
Difficult word-meanings by
writing them on the black
board.

(4) Using jumbled words and
students made to correct them
and form proper sentences.

(5) Question not attempted

(3)

While preparing a teaching
learning material a teacher must
consider its :

A. usefulness

B. simplicity and cost

C. accuracy

D. mental level of students

Select the correct answer using

" the codes given below :

(1) A, CandD

(2 B,CandD

- (3) A,BandC
A, B, CandD

Question not attempted

617

E=
CC

136.

137.

Cooperative learning technique
‘Jigsaw’ was developed by :

(1)
(2)
(3)
(4)
()

Elliot Aronson
Kurt Lewin
Albert Bandura
Erik Erikson

Question not attempted

Which of the following is a key
characteristic = of  cooperative

learning ?

(1) Students work inﬁependently

on separate task.

Students work together to
achieve a common goal. .~

(8) Teachers provide all the
answers.

(4) There is no need for group
roles and responsibilities.

(6) Question not attempted . _

138. Information and Communication

Technology (ICT) supports : * -

(1) Teacher centred learning

“-. Q/(,‘2..)/’Self directed learning

(83) Autocratic learning
environment

(4) Rote learning
(6) Question not attempted
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145. “Educational Psychology describes 147. The study of educational

| . psychology helps :

and explains the learning J-)/-I‘eacher and laaitien

experiences of the individual from (9) Guardians only

birth through old age”. Defined by : (3) Manager only

(1) Skinner (4) Principal only

(2) J.A. Stephen E{ (5) Question not attempted
~—48)" Crow & Crow 2148 Rapid increase in the weight and

4) Kolensik 97" height of the child occurs between

the period of :

(5) Question not attempted
(1) 10-12 years

146. Educational Psychology deals with : |- {2y 12-14 years

e _
A Learner, learning process, ?I: (3) 14-16 years
N 4 16-18 vears
evaluation of learning |if 4) y

" (5) Question not attempted ©
performance | ' 9
l@ According

B. -~ Learner, learning process, to Erikson’s
— psychosocial development theory,

learning situation , a major event occur during

C. —Problem of behaviour, |.- adolescence is :

problem of learning, problem o (1) Independence

of individiia] dILronEs: g (2) Peer relationships

Love relationships

Acceptance of one's life

€)
Select the correct answer using |
the codes given below : \\Né(:

Question not attempted
Codes : P
\_7 A, BandC |\@ i‘eﬂgl:;ri ent},l?rfto :dlmded mora]
., @ Aonly PN ) 4levels
(3) Aand B _ L}kﬂ- 6 levels
(4) Bonly (3) b levels -
_(4) 3levels

5 estion n
(65) Qu | ot attempted | (6) Question not attempted '

23
u-.

(¥ Scanned with OKEN Scanner



g i -"..‘ hich ap mﬁh 1’ high]]‘htﬂd as
B ﬂ"'m way of computer

without

~ gystemic support.
(2) Interactive learner-centric
i p meﬂ

;] B Commumty driven aducatinn
initiatives.

(4) Teacher-student
~ collaboration

() Question not attempted

Jn

:;;-_ stands for
) Liquid Crystal Display |
Lig "..Claaanplay

1 strategies and
: T nt

rrect answer using

142. Which one of

— e e —

the ‘foHOWing
statement is in the

context of system appmach ?

(D~ The system approach takeg
education as a system.
approach

(2) The system
“& considers the system of

education as a whole.

\_@/)T’he system approach
considers the system of

education as a part.

\(-4)/111 system approach, a
Y
te

acher has to compare
different roles played by man
and machine,

(5) Question not attempted

143. Which one of the following is NOT
paradigm for Computer Assisted
Learning ?

(1) Instructional Paradigm
@ Instrumental Paradigm
(3) Revelatory Paradigm

(4) Emancipator Paradigm
(6) Question not attempted

144. Through Computer
Instruction, students get :

(1) Personalized feedback

(2) Prompt correct answer
(8) Immediate feedback

M of these

(5) Question not attempted

Aided

04
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hoose the correcy transeripti
8 on of
given word frop, "y Options
K’ hllaw ! Justice
}:,j /dgostizs/ (g Astis/
® /djestis/ /d37stigy
- (6) Question not Attempted P~

86. Mark the prima o
L Y word Stregg ﬁ

(1) Quntessen'ce %
(2) Quint'essence

. i@) 'Quintessence

’ ®) Question not attempted

87. Cl

}

correct,
word 5

8  th opﬁon with the
¥ stress on the given
I’

ot attempted
' iriety of differen
'Erﬂﬂt volces
'V A51LE —l-'-'-—.'.“"‘:l

lave — -

of omnisclent”

thorial intrusion
sonality
rsonality .

90.  The recurring phrase — “Those are
pearls that were his eyes” in ‘T
Waste Land’ is an
which  of 4o 1o
Shakespearean plays ?
(1) Hamlet

A9 The Tempest P
3 Romeo and Juliet |
(4)  Antony anq Cleopatra
(5)  Question not attempted

|

Who ia ;
the pUIth El?hzl?ﬁy;:; fai‘::lh‘;*f .
+AT) Mr. Eugenides

(2) Wagner

(3) Stetson

(4) Cupidon

(5) Question not attempted

91.

problems
among  the post wa:r‘

generations who have stuck
n utter seclusion.

.\.?;/ the ontological dilemma that
has compelled the post war

absurdist.

3. the problem of the Industrial
Revolution,

Choose the correct option :

A(1)"1 and 2

(2) land3

(3) 1,2and3

(4) 2and3

(5) Question net attempted
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Choose the correct option ! 67, $hat :1‘; th% g;bjﬂﬂt.{rﬂf ;h: bl‘.:;]:
Who revealed in the court that e ‘Sweet Vendo

wrlthhl p
Henchard had sold his wife 10 2 | 1 and intends to publish ?
sailor ? ( C Ulinary Arts
(1) Newson ' (2) Fllmily Relationships
(2) Susan . (3) Mahatma Gandhi

(3) Joshua Jopp
(# The furmity woman
(5) Question not attempted

v{ﬁ) Naturopathy
() Question not attempted

“Congquer taste and you will have b :
conquered the self”. 68,/ Choose the correct option :

— e —

The above line characterizes ".It makes coherent sense on the

Jagan's valuing of b I{teffll or primary level of

(1) materialism - gignification and at the same time

2) frugality o eommunicates a second correlated
_A3) restraint and balance E , order of signification”.

(4) prudence - The above lines define

(5) Question not attempted (1) the sonnet ‘

Fill in the blank with the correct (2) theode

option :

Jagan uses the term ,ﬂmrl_g amﬂ .;}3) the allegory

Mﬁn’ # -/K(‘l) the Gothic
—1) Margosa : (5) Question not attempted

(2) the Peepal tree
(3) the Banyan tree

69. Choose the correct option :
(4) the Eucalyptus tree

: Which of the following is a Gothie
(5) Question not attempted | novel?
. Which among the following is ~walpole’s “The Castle of
;H%the one olf, the themes taken u S Otranto”
in the novel, Vendor of Sweets ? £ s »
(1) Father-Son relationship ; < E-'fﬁmzu i
(2) Clash between Indian and o =
Western culture (3) Hnrd}'i : I‘lle Mayor of
(3) The Gandhian way of life Casteroridge
-/(’ﬂ Malgudi ethics ~and (4) R.B. Narﬁ.yan's “The Vendor
connections of Sweets
(5) Question not attempted ®) Question not attempted
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